Report No.: 2201RSU021-U7
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Type 6 Radar Waveform_24
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Type 6 Radar Waveform_26
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Type 6 Radar Waveform_27

Lol = o o —F o Hoa 3T B E e Ea d okl ol
[C=H=) [ H=) EPTHEH =) =
= 5. 3= L= —
=5 = s A =0 =
= 5 > L= —
=5 = FF =T =
=5 == L =CN] =
=5 === A =0 =
=5 == = -1 S0 =
=5 = 255 A =0 -
=5 = e = -1 S0 =
= == e = ] = S e
= s = v EE=1u] =
= === m = -1 S =
= = e s ] -1 450 =
= = = 1 = SO el
= = e e = -1 450 =
= =, == ] - =0 =
=T = = = ] L =C] =
= =g 3 = =0 =
= =T = gl =] L =C] =
= = == e =1 =0 =5
=5 = e -1 S0 =~
== L= = 2= L= =5
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Type 6 Radar Waveform_29
Carrier Hop DXLIT EWW wWrithiin
Burst
(GH=) (SH=) (A =) =
3 5_25 5_295 1610 =
14 5_25 5313 160 =
15 5_25 5_305 160 =
17 5 25 5 261 160 -
3 5 25 5 296 160 Tt
A3 5 .25 5 _ 258 1650 -
51 5_25 5_303 150 =
52 5 25 5 259 1650 i
53 5_ 25 528 150 -
54 5 25 5_307 150 e
o 5_25 5_ 283 1650 =
(=1 5 25 5. 316 160 =
90 525 5 2294 160 i
g2 5_225 5314 1610 I
9 5_25 5_269 1610 I
98 525 5_293 160 tE
100 5_25 5_327 160 I
Type 6 Radar Waveform_30
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Appendix B — Test Setup Photograph

Refer to “2201RSU021-UT” file.
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Appendix C — EUT Photograph

Refer to “2201RSU021-UE” file.

The End
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